Visual Programming (CS410)
Assignment # 4
  Total marks = 20

                                                                                       Deadline Date = 09-01-2012
Please carefully read the following instructions before attempting the assignment.

Rules for Marking

It should be clear that your assignment would not get any credit if:

· The assignment is submitted after due date.

· The submitted assignment does not open or file is corrupt.

· The assignment is copied. Note that strict action would be taken if the submitted assignment is copied from any other student. Both students will be punished severely.

1) You should concern recommended books to clarify your concepts as handouts are not sufficient.
2) You are supposed to submit your assignment in .doc format. Any other formats like scan images, PDF, Zip, rar, bmp, docx etc will not be accepted 

3) You are advised to upload your assignment at least two days before Due date.
4) This assignment file comprises of Two (2) pages.

5) Do not send the CPP file of your code, but paste the complete code in same document (.DOC) file in which you will solve other questions.

Important Note:  

Assignment comprises of 20 Marks. Note that no assignment will be accepted after due date via email in any case (whether it is the case of load shedding or emergency electric failure or internet malfunctioning etc.). Hence, refrain from uploading assignment in the last hour of the deadline, and try to upload Solutions at least 02 days before the deadline to avoid inconvenience later on.

For any query please contact: CS410@vu.edu.pk
Q1 [Marks: 10]

Suppose an application has a window and 2 menu resources, one is IDM_MENU1 and second is IDM_MENU2. While registering the window class in this application, we make IDM_MENU1 the class menu. Now, we have 2 scenarios:

1. We give the menu handle of IDM_MENU2 during creating the window.

2. We give NULL as the menu during creating the window.

You have to tell which menu will be associated to the window in both cases.

Q2 [marks: 10]

Suppose we have an application that creates an overlapped window with a push button on it. We have coded the window procedure of the window in such a way that when the button is pressed a message box appears. A smart user makes a very good observation about our application. He say,” When I click the button, a message box appears. I drag the message box to a side using mouse and try to click the button again only to find that I cannot do it now. Now I click OK button of message box and message box disappears. After it I can again click the push button of the window.”

Explain to the user the reason of his/her observation.

